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Adet RMS (ppm)

7'09SY
€095y
2'09SY
T'09sY
0'09SY
7’655y
€695y
2’655y
T'69SY
0'65SY
£'8395Y
2’855y
T84Sy
085Sy
V' LSSy
€8Sy
LSSy
T'.9Sy
0°LSSY
G'9GGY
'98SYy
€986y
2’985y
T'99SY
0985y
ogeieisig
2’985y
T'99SY
0955y
V'vasy
€vasSy
2'vssy
T'vssy
0'vSSYy
7'€SSY
€'€Ssy
[A=ici4
T'essy
0'€sSy
v'essy
oacicig
¢'essy
T'essy
0¢ssy
asid
€TSSy
¢TSSy
T'18SY
0'TSSY
¥7'0SSY
€055y
2¢'0SSy
T'0SSY
0°0SSY



dit_asym_us_avg (ppb) 1D pull distribution
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ym_us_avg RMS (ppm)
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ym_usr RMS (ppm)
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ym_usl RMS (ppm)
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dit_asym_us_dd (ppb) 1D pull distribution
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ym_us_dd RMS (ppm)
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